161003-reviewing-for-test.notebook October 03, 2016

I TX- €
£x)= ——x-:;_—_ ;9 (x\= Vx
eB‘-'Domqln, §9(-(-3] r Need x-SH#+O

{Y a(#-F? ’P\\is’z
QQ(‘))‘ Need x84 % O = (- 02, S)V(S oo)

{x] x?.—'-{i: C—‘t,oo)
(’C*j)(x\- L6 + 5lx) = _x__d_-_‘:{:e

D eig) = B 0 H )
=71x I xe D) AN x;egfq)z

e

3 x xi+ 6 ( A~D Xk-qz

= & : M
R
= \ E-\-l,'S'B V (535‘-3)]

49(‘: ﬂ) Jg(z%) but 7

QQ (41\ o.chs o vu,umw :
3 9604—0

4+ (x#Y

£ L*;‘—’gf T 10 A =BB"’
- \- 2 A=
VT (@0
Ve TX =€ w+¢ 20
(‘Zﬂ:ﬂ -

Je/y)= £ x ] x#S amd xz-9 and x¢-=l§
\_/v—\/

x>""f

ya \/
== >

-4 s . 4 sHVs00D



161003-reviewing-for-test.notebook October 03, 2016

( (-0, DU (3,°o3> N (anl UB‘:ﬂ)

Sr——— \}./ i

= < e
I T 3 S 6

KA (VAR
A
Yej ol K]\ Hun x € Berd QEOE’BMCK-




161003-reviewing-for-test.notebook October 03, 2016

SyuFF

(Qoa)(x\ - f@(x\} g: Ve, £ =22
-(43 l\aS‘,'O cat X d -D kns'ﬁoee”'y(x)*

ng(f°j\ =fx/erQ(53M%P£j
T -“gxl xz-4 and et 35

Seradels \(x+Y # & S| x2 omd x:ézlf
O e —— —
-\

w+4 + 25 _ \j—q,'ﬂ;(“o )
x# 2l k = QQ o 035




161003-reviewing-for-test.notebook October 03, 2016

,p(’(\: -)14——2-— T P R

ot Tesr Question |

XAL Xy +2

gupfyait Q(-“.\ - 5—‘6&-.,\ Twer ;'—_—_;'_ = x,_—?'
(‘.rocs-w\ug'l';plj s
— (A D(¥~F)= (X, +7?) G ~7) Svpand
=7 | X XY~ K +'7—*1@=‘x-,,¥,5—-’-7-x2 +’lx@
Qo”-ec;l—_
=7 -Fx, vlx, =-1x +2¥X,

= -9, ="Ux,

So i+ LS !—+o-'./ﬂ

== W, =X, 1

p-( (ﬂ N

f s I-4o-| wuanm s :
X, Xy ==7 -p(x,\ £ L)
oA, -ezqw-‘fmé@y/
Loz L) == X, =Xo qf

we ueed iy Last way -
oun fnodﬁ.



	Page 1: Oct 3-1:11 PM
	Page 2: Oct 3-1:33 PM
	Page 3: Oct 3-1:37 PM
	Page 4: Oct 3-1:48 PM

